INVERSE TRIGONOMETRIC FUNCTIONS- PYQ

The value of cos }(1) — sin"1(1) is-
[AIEEE-2002]
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The domain of sirrl[logs (%D [AIEEE 2002]
M9 @-,9 @9 11 @9, -1]

The trigonometric equation sin~! x = 2 sin"!a, has
a solution for- [AIEEE-2003]
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(1)|a|£ﬁ (2)§< IaI<ﬁ

(3) all real values of 2 (4) lal <%

The domain of the function f (x) =—Sin91_(::23) is-
[AIEEE - 2004]
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Let f: (-1, 1) - B, be a function defined by

2
fx) = tan™1 1 X 5, then fis both one-one and onto
—X

when B is the interval- [AIEEE-2005]
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If cos1x — cos™! % = a, then 4x2 - 4xy cos a + y?

is equal to - [AIEEE-2005]

(1) 2sin 200 (2) 4 (3) 4 sina.  (@)—4 sino.

If sin| = | + cosec™ ST NG then a value of x
5 4)"2° Y

is- [AIEEE-2007]
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The value of cot(cosec1 % +tan™ %J is equal to-

[AIEEE-2008]
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If x, y, z are in A.P. and tan-!x, tan-ly and
tan-1z are also in A.P., then [JEE (Main)-2013]
x=y=z (2) 2x = 3y = 62

(3) 6x = 3y = 2z @) 6x =4y = 3z
The number of solutions of the equation,
sin'x = 2tan™x (in principal values) is -
[JEE(Main)-2013 (Online)]
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where | x | < ﬁ Then a value of y is :

(1) 3 21

Let tan-ly = tan-1 x + tan—l(

[JEE (Main)-2015]

3x -x3 3x +x°
() 1+ 3x? @ 1+ 3x2
3x - x> 3x +x°
3) 1-3x? @ 1-3x?

Domain of f (x) =4/Sir171(2X)+% is -

[IT 2003 (Sc.)]
11 13
(-3 @[-33)
11
& {‘ZE}

If sin (cot™ (x + 1)) = cos (tan"'x), then x =
[IIT 2004 (Sc.)]
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Let (x,y) be such that
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sin"}(ax) + cos l(y) + cos !(bxy)=

If a=1 and b=0, then (x,y) lies on the

[T 2007]
(2) (x2-1) (y*-1)=0
(4) (4x>-1) (y*-1) = 0

(1) circle x2 + y2 = 1
B y=x

Let (x,y) be such that
T

y) + cos Lbxy)= 5

If a=1 and b=1, then (x,y) lies on the

[IIT 2007]
(2) (x2-1) (v?-1)=0
(4) (4x?-1) (y*-1) = 0

sin"1(ax) + cos™L(

(1) circle x2 + y2 = 1
B y=x
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. Let (x,y) be such that

sin"}(ax) + cos }(y) + cos L(bxy)= g

If a=1 and b=2, then (x,y) lies on the

[T 2007]

(1) circle x2 + y2 =1 (2) ®*1) (y>-1)=0
B y=x (4) (4x>-1) (y*>-1) = 0
Let (x,y) be such that

I

g

y) + cos X

x
2
If a=2 and b=2, then (x,y) lies on the

sin"*(ax) + cos” bxy)=

[IIT 2007]

(1) circle x2 + y2 = 1 (2) ®*1) ¥*-1)=0
@)y =x (@) @x2-1) (4>-1) = 0
If 0 < x< 1, then

V1+x2 [{xcos(cot %) + sin(cot ™ x)}% — 1]¥? =

[IT 2008]
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(3) xV1+x* @) V1+x2

Lot F(ll=sin [tanl ( J%D’

T o
where _Z <Bb< Z Then the value of

(1) (2) x

d
0) ic ..
d(@n6) (f(0)) is [IIT 2011]
(1)1 2 -1
(3) 2 (4) None of these
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20. The value of cot[Zcotl(l +22kjj is
k=1

n=1

[JEE(Advanced) 201 3]

cos (tan’1 ) +ysin (tan" ) "
21. Lz Lt J +y
y cot(sin’1 y)+tan(sin’1 y)

takes value
[JEE(Advanced) 2013)]
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22. If cot(sin’lx/l—xz):sin(tan"(x\/g)),x;tO

then possible value of x is
[JEE(Advanced) 2013)]
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23. Let f:[0,47 — [0,7] be defined by f (x) = cos (cosx).
The number of points x e [0,4n] satisfying the
_10-x

equation f(x)= 0 s
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[JEE(Advanced)-2014]

(1) 1 (2) 2 (3) 3 (4) 4
24. Number of positive solutions satisfying the equation
[JEE(Advanced)-2014]
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tan~' (2 J+ tan " (4 lj =tan ' (—ZJ
X+ X + X

is
()1 2 2
(3) 3 (4) 4
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25. If a = 331n1(ﬁj and P =3cos 1(§j where the
inverse trigonometric functions take only the
principal values, then the correct option(s) is(are)
[JEE(Advanced)-2015]

1 2) si
0 @ o @ 9 @ o 2_4 (1) cosp>0 (2) sinp<0
25 23 24 23 (3) cos(a+B)>0 (4) cosa <0
* Marked Question is multiple answer

Que. 1 2 3 4 5 6 7 8 ) 10
Ans. 2 1 1 2 2 3 2 1 1 1
Que. 11 12 13 14 15 16 17 18 19 20
Ans. 3 4 1 1 2 1 4 3 1 2
Que. 21 22 93 24 25

Ans. 4 1 3 1 2,3,4




